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International Finance Management (Quiz A)

I. Explaining the following terms: (20 points)

1. The balance of payments

2. Hedging

3. SDRS 
4. Direct quotation

5. Independent floating system

II. Answering the following questions: (30 points)

1. Why did the Breton Woods system of fixed exchange rates collapses?
2. Explaining the macro meaning of the current account balance.
3. What are the major types of transactions or activities that result in demand for foreign currency in the spot foreign exchange market?
III. True or False: (10 points)

1. If the overall balance is in surplus, it equals a decrease in the country’s holdings of official reserve assets.

2. Unilateral transfers, including government foreign aid grants and private gifts and remittances.

3. Under the fixed exchange rate system, the government has more ability to pursue an independent monetary policy.

4. Spot foreign exchange serves a clearing function, permitting payments to be made between entities who want to hold or use different currencies.

5. Under a fixed exchange rate system, market supply and demand set the Equilibrium price that clears the market.

6. Speculating is the act of reducing a net asset position or a net liability position in the foreign currency.

7. The law of one price posits that a product that is easily and freely traded in a perfectly competitive global market should have the same price everywhere.

8. The FE—curve shows all combinations of interest rate and domestic product that result in a zero balance in the country’s overall international payments. The FE—curve slopes downward.

9. The special drawing right is a reserve asset created by the IMF.

10. The increase in money demand that accompanies a higher domestic product must be offset by a higher interest rate that reduces money demand, so that the LM—curve slopes upward.
IV. What has happened to the exchange rate value of the dollar in each case?（10 points）
a. The spot rate goes from＄0.50/SF to＄0.51/SF

b. The spot rate goes from SF2/＄to SF1.96/＄
V. Which of the following transactions would contribute to a U.S. current account surplus? (8 points)

a. Boeing barters a ＄100 million plane to Mexico in exchange for ＄100 million worth of hotel services on the Mexican coast.
b. The U.S. sells a ＄100 million jet to Turkey for ＄100 million in bank deposits.
c. The U.S. Government makes a gift of ＄100 million to the government of Greece, in the form of New York bank deposits, to pay for injuries caused by Turkish jet attacks.

VI. For each of the following, is it part of demand for yen or supply of yen in the foreign exchange market? (8 points)

a. A Japanese firm sells its U.S. government securities to obtain funds to buy real estate in Japan.

b. A U.S. farm cooperative receives payment from a Japanese importer of U.S. oranges.

c. A U.S. pension fund uses some incoming contributions to buy equity shares of several Japanese companies through the Tokyo stock exchange.

d. A U.S. import company must pay for glassware purchased from a small Japanese producer.
VII. Answer: How to defend a fixed exchange rate? ( in details) (14 points)

Suggested Answers:

I. Explaining the following terms:

1. The balance of payments is a systematic account of all the exchange of value between residents of one country and the rest of the world during a given time period.

2. Hedging is the act of reducing or eliminating  a net asset position or a net liability position in the foreign currency.

3. Special Drawing Right is a basket currency comprising major  individual currencies, which was allotted to the members of the IMF.

4. Direct quotation is the price of one unite of the foreign currency in U.S. dollars. 

5. Independent floating is market determined, with any foreign exchange intervention aimed at moderating the rate of the change and perverting under fluctuation in the exchange rate rather than at establishing a level for it.

II. Answering the following questions:

1. The Breton woods system of fixed exchange rates collapsed largely because of problems with the key currency of the system, the U.S. dollar. The dollar’s problem arose partly as a result of the design of the system, and partly as a result of U.S. government policies. As the system evolved, it became a gold-exchange standard in which other countries fixed their currencies to the U.S. dollar, largely held U.S. dollars as their official reserve assets, and intervened to defend the fixed exchange rates using dollars. The U.X. was obligated to exchange dollars for gold with other central banks at the official gold price. This caused two problems for the system. First, other central banks accumulated dollar official reserves when the U.S. ran a deficit in its official settlements balance. In the early years of Breton woods this was desirable, as other central banks wanted to increase their holdings of official reserves. But in the 1960s, this became undesirable as the U.S. deficits became too large. Expansionary U.S. fiscal and monetary policies led to the large deficits and also to rising inflation in the U.S.. Second, other central banks saw their rising dollar holdings and a declining U.S. gold stock, and they began to question whether the U.S. could continue to honor the official gold price.

2. The current account balance has several meanings: The first meaning equals the country’s net foreign investment (If); the second meaning equals national saving that is not invested at home; the third meaning is the difference between its domestic production of goods and services and its total expenditures on goods and services.

3. Imports of merchandise and services result in demand for foreign currency in the foreign exchange market. Domestic buyers often want to pay using domestic currency, while the foreign sellers want to receive payment in their currency. In the process of paying fir these imports, domestic currency is exchanged for foreign currency, creating demand for foreign currency. International capital outflows result in a demand for foreign currency in the foreign exchange market. in making investments in foreign financial assets, domestic investors often start with domestic currency and must exchange it for foreign currency before they can buy the foreign assets. The exchange creates demand for foreign currency. 

III. True or False:
1.F   2.T   3.F   4.T  5.F   6.F   7.T   8.F   9.T   10.T

IV. a. The value of the dollar decreases.( the SF increases.)

    b. The value of the dollar decreases.

V. Transaction b contributes to a surplus in the current account because it is an export of merchandise that is paid for through an item in the capital account.
VI. a. Demand for yen. The Japanese firm will sell its dollars to obtain yen. 

b. Supply of yen. The Japanese importer probably begins with yen, and the U.S. cooperative probably wants to receive payment in dollars. Yen must be sold to obtain dollars.

c. Demand for yen. The U.S. pension fund must sell its dollars to obtain yen, using these yen to buy the Japanese shares.

d. Demand for yen. 

VII. There are five basic ways: (1). The government can intervene in the foreign exchange market, buying or selling foreign currency in exchange for domestic currency, to maintain or influence the actual exchange rate in the market. (2). The government can impose some form of exchange control to maintain or influence the exchange rate by constricting demand or supply in the market. (3). The government can alter domestic interest rates to influence short-term capital flows, thus maintaining or influencing the exchange rate by shifting the supply-demand position in the market. (4). The government can adjust the country’s whole macroeconomic position to make it “fit” the chosen fixed exchange rate value. Macroeconomic adjustments driven by changes in fiscal or monetary policy can alter the supply-demand position in the foreign exchange market. (5). The country can alter its fixed rate or switch to a floating exchange rate.

